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30t9723t Tqldur{urhru\ Sur3lhpnr[ /a0gur11/ uu hruur 1300 5.2
3019723t pnpuquLuh $u{ttpnq uu hurur 300 10 3.0
30192160 2upfluhhp uu hurur 300 5 L .5
30197631 pnlqfd urlqurqpu\ruh UU urnrrh L0000 5 50.0
30192780t2urpruduhlr2 uu hurur 320 10 3.2
3021 1 190 hruriur\rupqlr2 qz hurtn 400000 1 400.0
39241210 rf\purur qruruhlr3 ur\urlfrtr uu hurur 650 2 1 . 3
39263400 udpru\trhp uu urnrrlr 400 4 1 . 6
39263510 uhrpfur\, rlrnpp uu hruur 30 25 0.75
39263510uhrpftu\,.ihghh uu huur 100 36 3.6
31681300 hQf} uqnntr 4hururfrhp h uluhriurLhp uu nnrurl 420000 1 420.O
31681300 h'tlc-h truriqhp UU hurur 8000 20 160.0
3L7Ll t40 qlrlnrnur3|rh urupprutlnprlurtr hhq urpnq uu nnurl 250000 t 250.0
33L4ttL7 pudpru\ uu hurur 300 20 6.0
3321 1000 urluurnpn2|r2 Llnrphp uu rlFunt 350000 t 350.0
336965s0 tuFnFunnnp odurh4ur\ Ljnr_php uu nnrurf 200000 1 200.0
3369t162 LrrFnpunnnF urq4ulrlmphp (nhuqhhurhhp) uu rlpuril 500000 1 500.0

Eurluuurl|rtr hlnrphp (hnllruBh r urn) uu 4nlud 179000 1 179.0
33t47129 qhilurltLhF uu hunn L20 300 36.0
2a310000 [ hhrftrur\rutr urhonqurhur\urtr phrlfrur\ruh h3ntphp UU 4purd 340000 1 340.0
33761r00 qntqurfrurtrlr Fnqp uu hull 130 200 26.0
31521110 lmuurp&ur\ 60X60 uu hunrr 9000 16 L44.0
31512360 lmuurp&ru\ 25X25 uu hunn s000 4 20.o
31521200tudq t\ntrnri uu hruur 1200 4 4 .8
31531210lh\urpur\urh lunlq 60W,80W, t00W UU hunn 100 20 2.0
31221280 hFhrunurgr.turh LrunhF uu hurur 2500 6 15.0
31321 1 10 gurbn tllhghlt lurprfiutr tlurlntluhhp uu dhurn 250 60 15.0
3t7LL250 Iunqnrlurh 2rt uu dhurn 900 5 4.5
3171t250 lun{nrlu\ ar} uu rihurp 450 5 2.25
3L71t250 lontt".l-\h \guliruuhp uu hruur 450 b 2.7
34331300u{urnrfhphtrurtrhpfr q tuhhuurulluruhp uu nnurrl 100000 t 100.0
3491 1 150 qurtrurqrutr rqurhhuurturluruhp uu nnrud 100000 1 100.0
38431700LupnnurunnhurJh llupnglr2trhp [r ulrunurqurtrhn uu nnunl 300000 t 300.0
38436500 ilu qtrhuruh urh lqurn trfrl uu hurtn 37000 1 37.0
38591000LurFnrrulunF uqFP uu nnun-[ 200000 I 200.0
39812600 rlurpnnq durbm\trtp tr rlrn2frtrhp uu hunn 450 40 18.0
39831242 trlursph qmZf &hnpntl plurhurlnr huniurn uu huru 300 20 6.0
39831246 hhqnt\ Ilr,ugnq rihSnC uu hurur 1950 10 19.5
39831281 unrlur\lr rirupphlm Lup uu hruur 450 40 18.0
39831282 \urhntJp rlurpFtLnt lup uu hruur 600 10 6.0
39831283 hunnurhh tdurgrlurlt Lutfu UU huur 500 20 10.0
39836000 sqh uu huln 700 20 14.0
3983L247 urhrnurhurhryl hhrlm! uurhhurtrgnttqh ( tuuurhrnrn ) UU hunn 600 20 t2.0
39831240 rftupnn{ LJnrfobn uu hruur 500 20 10.0
3983L244 odurn rnhuhuruhrutr uu hurur 150 20 3.0
39831245 odurn hh4mll uu hunn 400 20 8.0
19641000 t{nltrtptrLtlur1frtr qurptl urq pfr hunftun uu hruur 1450 10 14.5
L9647000i1 qnftfpirlhtluthtr rlurnL urnrh hunlurn uu huur 320 l 0 3.2
42991330 uurpFulu u uurFp hp /nrlurpurAurl Lurl |rb ilurpnhl/ q2 hurur 2s0000 t 250.0
38411600 rr1:urqrFlutrrr q2 hruur 110000 1 110.0
44221r40 quurmhuhhhp uu hurur 120000 I 120.0
44221140 rlntrhn rfhurur+!\urh zuu huur 48s000 z 970.0



44111200 ghrlhtrur uu ulurlrlj 2600 60 156.0
L42Ltt j0 -s{qrq uu uurnb 2s0 o 1.5
44322300 riurLnrlu hurluururhurlurb hhnurlunuurhul:lh hrurftun UU rlhurn 250 50 12.5
32231600 hhnurlunuurthtr hurqlr uurpphp uu hunrr 75000 1 75.0
32361100 htruhnhhrn turul fr uurpphp uu hunrr 75000 t 75.0
444LL740 qntquFruhl4\nhp uu hurur 30000 2 60.0
444LL300 trlrugurpurh uu hrutn 13000 1 13.0
444lt t20 2p! bnpur\ uu hurur 6000 1 o.u
444tt5t0 rllu\ruhhhp uu hunn 1800 5.4

44423680 2]rhurprupmpjuh rfh2 oqunuqnpb{n4 qruhurqruh
rultuqnuhptr p uu qfruril 300000 1 300.0

44511000 UU lFuril 100000 1 100.0
44521t20 +nuL rhutllurhtrhp uu 4nluil 40000 t 40.0

L'lt4tutlhhp tuulptabpbhp
6321.0

OurnurJmpJnr-trhhF

4531 I 125
hhnurlunuurlhtr gbtr urhqur4pnrrl h rlurlntlutrtplr
urtrghurgnuf uu rlFurli 2s0000 I 250.0

48447300
hur2rlurqurhur\urtr hurriru\urpq2urlirh bpurqpurl|rtr
t*php uu qpuli 12s000 I 125.0

501 I 1 130
unlurnrihphtrutrhpfr r{hprutrnpnqrfurh 

-l-;

brunrulmp3nr-lr | 
'* lpuril 250000 I 250,0

50750000 {hphlur!}r rlhprutrnpnqrluh h qurhqurtniurh
ErunurlntfoJnth uu tlrulli 100000 I 100.0

504r I 160 $np&urp\nr1 uurpphplr {hpruhnpnqrftutr h
Htuhrqurtnfurtr br+nrulnrpJnrhhhp UU | ry*rf 500000 I s00.0

5071 1 100 h1h\urpur\uh uurpphplr rlhprutrnpnqrftuh h
uiluhqurhrlurh burnur]ntplnttrtrhp uu rlpuni 1 50000 1 150.0

641 1 1000 hrutrFurJtrh hhnurlunuurlfrh brunurlnrplnrl: uu 4pud 500000 500.0
6s1 1 1 100 tph purZlunui uu 4Furil 300000 1 300.0
6531 1 100 h.ktrhnqhtuth rur2|unrri uu 4nruil 9000000 I 9000.0
64121000 unr-Fhurhrlur\*:hl, burnurjnr-pjnrh uu 4nuril 132000 I r32.0
66571170 urlurnillphhrulfi ruq urhml urqprluh burnrulnr_Brnth uu 4Furd 35000 2 70.0
71631720 u{unilhphhulfr rnh}utrfr\urllurtr uurntqrlurh

burnurJntplnth uu lFuni 10000 J 30.0
71221200 \urtplr ruplhqr\urhurgrfurtr burnurlnlBlmh uu 4nunl 400000 1 400.0
72261160 bpuqpurlfrtr urqurhn{rftuh uquruurp\rlurh

burnruJnrfaJnr-h uu qFuril 400000 I 400.0
79981 100 purdurhnn4urqnrlutr burnurlmplnttr uu 4nurd 9000 t2 1.08.0
724cf,0@ hunfurgurlgruSlrtr burmulnrplnthhhp uu 4Fruil 470000 470.0
79131300dh [tnpnhulfrtr uurnpruqpmpg ru h

hrurlunnruFrfurqprlurh burnurlnr_pgth uu rlFuril 3100 I 3 .1
79223000 durpuurthh rJhttrnnlh (ppnphp) Eurnru3ntp3nthhhp uu 4Furil 200000 I 200.0
7981 1000 urulurqFruliluh burnurJmpjnr_h uu 4puril 1 00000 1 100.0
90921 100

ufurnuhurtniurtr tr rfur\urpnr_lEtrhplr n2trlurgriruh
burnurJnr-pJnttrtrhp UU rlpurd 180000 I 180.0

90s1 1 100 uryh hunlurprfultr burnurlntplnr_tr uu 4nuril 360000 1 360.0
71627100 ur trIu uF qur tlurlr t[hplnrbnrplurtr h

hnphnnurtn{urb ruh burnurlnr_plmhtrhp uu
4Fulil 950000 I 950.0

99600000 qhnr-rf 2hurtrqltoutgttrt brufuuhp /qnpbnupiurtr
burluuhrr/ uu rlpluri 700000 700.0
Ct4 ut [h h D tun ulntpln ilt h hp

75278.1
Cl4unlthp

27599.1



'Tlurtnr.lfrpururnth' Z2 QUU U.tr.Lurpuh4lurhfr ulrtlurtr pfnffrur\urh Sltqlt\*fh frLurrrfnnnttrr 
'IInUq

(puur plnr2hururlfrh burluuhpfr qtpururhu2ur\ruh 4uruur\urpqriurtr)
Upurqphpg 'e[urur\urh tr qfrurunnh]uhfr\ur\urtr qnpbnthhnr-plurlr qurlilurLurq
ruturntBturtr hnnrlhg nnunftultrnnhh &hnrl urpulfur4pr.lnl $hlrurhurulurlr r+9u

FurJtrtr phriurhhpfr frpru\urhugiluh hurtiurp
llgnrplntlr,

tlnurilrurhnnhurr,h bnurqhn '20DP-1D02

aLrfurtr urnurp\ur1fr
qLil

urlr
dbn

2*th
rifrur{np

D

Ufutlnpfr
qhbD

€urhur

\n

Qnrriurpp(h
ulqluF
rlFuril)

tlh2utbsh\
burb\ruqlrpp'
puur $UU

nuruurLurnqilurh

urhrlurtrmrip

1 2 3 4 5 o 7

Urunuhphhn
302rr2ml2 nrmnurt hn hrutlurh urnqhlhhn q2 hruur 479500 2 959,0

3021 1 190 huliurhurnqhlhhn qe hunn 398000 2 796.0

30232110/2 rurqtnurhh urruhl /A4, qZ hunn 128400 .)
z 256.8

42127370/3 {ur\nr-nr-rfur3frh r4nrtqtp q2 huur 150000 4 600.0

38421r40/7 2ulfuiruh uurpphp /tiir\pnrlnpmihurp/ SZ hurtn 150000 I 150.0

3842tr4A/8 lunltftutr uurpphp /rffr\pn{n1uilhup/ s2 hruur 6s000 3 195.0

3842tt4018 2ullnf urtr uurpphp /rlru\mrrr-ririhrrrp/ cz hurur 51000 3 153.0

42121690/l rlru\nurrlurlfrb qnilulhplr rluruhp /rlnl\rut/ qz hunn 45000 1 45.0

42121690/2 rlur\nurilur3frh qnilqhp]r iluuhp
/tunrlnrlurLruhqnnr/

q2 hrurn 38000 1 38.0

42121690/3 {ru\nurrfurl}rh qmtqhpfr riuruhp
/hnnnrlurhurtonnly'

q2 hurur 15000 I 15 .0

42121690/4 r{ur\nuufurl}rtr ulmlqtpfr r.truuhp
/hnnnrlurtutonp4/

q2 hurur 22000 I 22.0

42121690/5 rlur\nmr-riur3frh qnilqtplr riuruhp
/tunnnrlurtrurhqnnn/

cz huln 30000 I 30.0

42121690/6 {ur\nuulurlfrh qnrlulhpfr rluuhp i$u\ul/ sz hurur 45000 I 45.0

42t21690/7 tlur\mar-rfur3]rh ulnriqhplr rluruhp
/tunnnrlurburtonnn/

qz hunn 26000 I 26.0

42941t20 {ur\nr-nulurl frh rlurnurpurtr q2 hurur 4000000 1 4000.0

Cfu4rurfhtrp 7330.8

'Thuunllrptuurnth' 22 QUU U.tr.LurpurtrlSutrfr urh{ruh pflffrtu\urh Shqh\*th frhutnfrurnrur 
'[nUr{

(puur plnrphururl frh brufu ubpfr qhpunnhu2ru \urh rluruur\ru pqtfurh)
'Inurrfurllrnnhurrhlr bnurqnhnn' ENI/2016/37 2-403,

Uhrlurhnrrfn'<<European Union Water Iniriative Plus for Eastern Partnership>>

Qhrlurh urnrup[ur3fr

qLil
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&ltn

2*th
dfru{np

E

Llfru{npfr
qht t

€urtrur

\n

Qnulurpp(h
luqurP

4fruril)

dh2uthshtl
bub\uqfpp'putn 

QUU

4uruur\urpq
rfurtr

urhtlurtrnr-tfp

1 2 3 4 5 o 7

Uulnurhphhp

09132200 rhhqhh utnhilhnrrl UU I
L 430 450 193.5

09132200/r phLqfL qphilfrmil uu t 290 1000 290.0

Uunrulntplnth

45461100 2htrphplr h 2frLntp3nthhhpf phpugfr\ hnpnqriruh
urrluulnurtrptrhn uu rlFuril

463300 I 463.3



'Tluru'llrprur'nth' 22 nU,t U."."*n*Un *Uh *U{*U nhilhu,,!*U ShrI,,rGf, fU;G(Euur Flnr2hururlhtr burluuhnh qhFuruhu2rullurh q*u*q*pq,t*[-
'Ipurtfur2lrnphurlirh bpurqnhnp' ICHPH-O03A.

rr-tn 'TIOUrr

Uhrlurtrnrilp <<trurp&p thrrrpnqfrurtl*
h <<'tlfrlr4 fuunbnlp4trhnh hhrlurlr ilnu.r ururouronr ohrhhn,,

mpjnthhhpfr hulfurp>>

9tliurlr urnruplur1|r
qLil

tutr
&lrU

2*th
rifrun{np

E

Uftur{npfr
qhLn

€ruhru

hr

Qntilrupp(h
ruqurF

4Ftud)

ilhgruhgh\
bub\urqfrpp

putn QUU

4uuur\urpq
rlurh

urhrlurLntrlp

1 2 3 A 5 o 7
Uqpuhptrbp

3831 1200/1 qLtrqupnuurlFu rluplnLdurQuh Ll2hnpbhn q2 hrurrr 1266000 I 1266.0
3021 1 190/1 4uuurqrupqFluhF /15/ qz hrurn 349500 I 349.s
30234630/r SLhZ htrZnqnrp:lrh t6 GB g2 hunn 2700 2 5.4
30234630/2 SthZ hhZnqnr-ptn{r 64 cB qZ hruur 5400 2 1 0 . 8
72547100 huniu\rupq2fr hhurpunlnpmplnrhtrhplr

Ehllrulhilurh burnurlnrplmhhhn UU ryrurd 173000 I r73.0

48461 100 {hplntburllurh \ull qfnnur\urtr hrurfur\urpq2ru1}rtr
bpurqpurl|rh rlrruBhBtrhn UU hruur 871650 I 871.6s
CQturIhhp

2676.35

2. ululrunilh hnr-ritrh
ffi

Qhilurtr urnurp\urlfr

ilh2urbgh\
burb\urqfrpp'
putn 9UU

rluurullupqtl
ruh

urLrlrutrnltfp

qbil

urtr
&ttn

?-th
ilfrunlnp

E

tl[ur{np | €rubru
h qhl'n I trn

Qnrriurpp(
huqurp
rlpuril)

1 2 3 4 5 o 7
Uqpurtrptrbp

031 I 1280/l quurl)nt'q (nfflnt-q ol nqnrl hnurthtr) $ / hruur 1000000 I 1000.0o3tlt280/2 qunl-)nl-q (Fnlpur4n Eu_trhurnhr urr hL) q t hruur 20000 10 200.0031 1 1280/3 qurnt.)nt-q lpntpur4 [ Elrurr hh ) qz hunn 20000 10 200.003111280/4 qrunt-lnt-q (ulnlFnlF hururhul [rh) qz
q2

hunn 20000 1 0 200.0031 1 1280/5 qnfnlbplrqruqhulrh L ruururr hurornnn urnrrh 100000 3 300.0031 I 1280/6 q2 r-nnrfr 100000 300.0145211r0 ulruqutrII[ qln2nuEn uu hruu 150000 I 150.0'19521s00/1
Iutro (qqopurl4urlnu) uu hruur 20000 1 0 200.0r9s27500/2 uu hruur 20000 l 0 200.024311190 ldlduLutrIl uu hrurn 50000 l 0 500.024321660 qruhruqurh opqrutnu! urh phrlhruburh hrn.rrt uu hrurn 30000 5 150.024321340 qfdurunL po2qurqtuu uu huur s0000 s0.030211200/1 ruuLll ur qlrlr firuulu qulrqF:u hF sz

q2
hruur 424500 2 849.03021 I 190 huuftullurpqhltrhn /i3l hurtn 400000 t.t' 1600.03021 I 190/1 Il uruur qurFqfr:u trF /r)/ q2 hrurn 349s00 I J lY .J



30211790/2 hruriur\rupqfu2/i5/ SZ hunn 550000 I
I 550.0

3021 1280 hunfur\urpqlrl urdpnt gp rih! nui s2 huur 297000 8 2376.0
30232rr0/2 luqhprulfrtr urqfr2 /Aal qz hurn 128400 4 513.6
302321r0/3 lurqhpu;frtr urulh) qnthrurlnp/A4l qz hurrn 210000 420.0
30234630/2 $1h2 hfr2rutnrplnth 64 GB q2 hurur 5400 8 43.2
30237r12/1 uhntgrlurtr p1n\ / 3000 .{IJ/ qZ hurur 1000000 I r000.0
30237712/2 ulrmgrluh pln\ / 4000-5000atW s2 hurur 1980000 I 1980.0
3t27r430/7 h1h\urpur\urh {urhruhur\hhp I 8 r-rrhq uu hrurn 4000 2 8.0
3r2r1430/2 h1h\upur\urtr rlurhurtlulhhp 9 urhq uu hunn 3000 I 3.0
3121 1200 ,lr"lo*!g-ur|lrhp uu hrurn 1600 1 8 28.8

3121 I  180/1 rurlvrnrlurur urh2ururfr2trhp C- 16 uu hurrn 1400 5 7.0
3r2ttr80/2 rurlurnrlunn urtr2rurnlr2hhp C-25 uu hunn 1300 20 26.0
3121 1 180/3 ur{urnrfurur urh2ururfr2hhp 3C 1 6 uu hurtn 3700 t 7.4
37211180/4 rurlurnrfiuur urh2unnfr2hhp 3C40 uu hurrn 5500 o 1 1 . 0
3121 1 180/5 urtlurnrftuu urh2ururfrjrhp C40 UU hurrn 5500 I 5.5
3l2It22l urh2ulnlrl uprrnupfrtr G-808 uu hunn 1500 1 1.5

rffr2ur\ruq rlfrurSurq UU hunn 1000 ) 5.0
31211520/1 qur2uqurtrlr2 urm$hp 40-25 uu rlhurn i 1 5 8s0 97.75
372rrs20/2 fE2qq*ttfrl rnnrrfrhp 40.25 uu rjhrrrn 1250 JO 45.0
3r32tr20 gurbF Lurpriruh rirulntfu trhp 2- 1.5 uu rihurn 200 r80 36.0

31321 130/1 ,Ittfht lurprlurh riurlmlutrLp 3.1.5 uu rlhurp 290 160 46.4
31321r30/2 ,Ihghlt lurpriruh rftulntluhhp 3.2.5 uu ilhurp 465 330 153.45
31321 r40 FurF&F lurpriurh rtrulmfutrhp 5.2.5 uu rlhrnn 770 35 26.95
31521 1 10 lmuurpAurll 60X60 uu hurur 8000 27 216.0

31521560/2
upnupfrh lntuunlnprfurtr pnlqhp /urphrulfrtr
tluhurtnu\nr/ uu hurur 5000 24 120.0

3ts2r360/4 [h\urpurlluh lurfq, thq 72 {r.n uu huur 12000 40 480.0
316844@/r rlurp4ur\trhp UU hruur 1500 41 61.5
37684400/2 {urp4ur\trhp uu hurn 1600 2 3.2
3177t400 hth\rnnntlu:htr frtnnhqpul uluhrlurtrhp uu nnuril 899500 1 899.5

hnrlurlgriurh \nhurntp uu hrlur 500000 I 500.0
32321 1s0 urtuunlntrfrurnphhp uu hurur 400000 2 800.0
322213@ *btgqpr.folmhtrhpfi hurrlnp4riruh uurppur{npmrf uu hunn 250000 2 s00.0

33691160/1 pflffrur\rutr urq4urhlntptn /nhurqhhurhhn/ q2 hurur 500000 1 500.0
33691160/1 hunnnt\ plril]rru\urh urq4urtrlmphn /nhurchLuhhn/ s2 hunn 400000 a

I 400.0
33791300 LrxFnpurunp unrlrullqur urpunl4purtrp qz nnull 500000 I s00.0

3sr2t290/6 u{frltrhp dtr2rlurh (160 ruuuf) qz huur 2992s 4 rt9.7
35L2I290n gtlltlrhp dtr2rftuh ( 250 ruuni) qZ hruur 29925 4 179.7
35121290/8 u{f2Ltp dh2rlurh (400 ulnrl ) q2 huln 29925 4 1r9.7
35L2r29019 m{rltrhp dtr2rlurh (1000 ruurtl ) q2 hrurn 29925 4 119.7
3sr2t290/10g{f2Lhp (prun&p dtr2rlurtr ) 

' sz hunn 61425 n
z 122.85

35121290/rI u$2bhp (putpAn dh2rftuh ) q2 hurur 62000 2 124.0
35721290/12 u{lrfrhp (putp&n dh2ilurh ) s2 hunn 61425 2 t22.85
35t2t290/13 u{rltrhp (putp&n dh2riruh ) qz hurur 560000 I 560.0
35121290/14 u{ffrhp (prup&n dhzrlurtr ) qz hurrn 640000 I 640.0
38311300/l hgh\rnpntnulfrh urh]utrfr\ru\urtr \2hnptrhp /. 5 \q sz hurtn 178000 3 534.0

( 3831 1300/2 hh\urpntrurSlrtr urhluhlrlur\rutr \2hnphhp /< 30 Uq/ q2 hunn 50000 2 100.0
38311200 hlhllupntrurSfrtr rlhpln$ru\urh \2tnptrhp q2 hunn 377000 I 377.0
38431610 fuurntr]rltrhp /rfurqtrfruur\urb/ cz hurur 200000 2 400.0

38421140/r &tr2rlurtr 2unfrrturtr uurpptp
Afntrnrihrnp opfrhur! h1 |r 25 U'tlur/

qZ hunn 345000 I 345.0

38421140/3 dh2rlurh 2rurlrilruh urupphp, fo,lur:hh q2 hurur 254520 I 254.52
3842rt40/4 &tr2rlurtr 2unlliurtr uurpphp, priurthtr qZ hurtn 254520 I 254.52



3842rI40/5 2uufniurtr urupptp g2 hurrn t94670 194.67
38421140/6 2unlrdrutr uurpphp qZ hurrn t94670 t94.67
38431570 ghnntgfr2 uurt \tthp qZ hurur 10000 2 20.0

38417400/l ]unhur{ur2rur}rhp (}unhru,lutt*S llZh.,p-
hrulnqhtrurl|rh tunirunrl ururpurq{nn)

qZ hunn 2050000 I 2050.0

3841r400/2 ]unhun[ur2unfrhp (]untnurl*t*t hZh"p-
htr$nur\rundfrp 1 urtlulnd ururpurqilnn) qz huru 660000 I 660.0

38431610 ]uunhfr2hhp
(hnururhrlururtrq phurtrurlnn turunhhlhtn) qz hunn 1800000 3 5400.0

38431610/l [h\urpurlurh rl]rppruurnp q t hruur 840000 1 840.0
38511 120 u\urhrurlnpn{ klh\upnburlftr thuhpur+l,n-ll ztru hruur 90000000 I 90000.0

38s91300/1 LurFnFulunF qLqur3hh urqu g ztrU huru 700000 I 700.0

38591200/1
pfilfulluL LurFnFurumplrurlnttf \irpuntlnrl urupphp
(9urnt -$hrhnh htrptrurluruur urhurnururnn) ZtrU

hruur 4448000 I 4448.0

3859t200/2
pf ilfulluL tuFnFururnplrurSnr-ri \frpurnrln4 uurpphp
(hururnr-I1 \nhuurpnr-\ gfrurl|r q1 urhulfhphhru) ztru hurtn 5376000 1 5376.0

38591200/3

pfilfu\uL lupnpururnpfnulnrrl \hn*"rl"tt uurpphp
(phprinqpunllufhurpur\rutr urhruflrqurunp TGA
hunfur\g{urb $ntphfr &hur{rn}urfunfp
hh$nruhurprihn uqhburnurl ntuuryu{rh (FTIR) hhur)

ZtrU hunn 53000000 1 63000.0

38591200/6
pfdfru\uh LuFnpuunpfrur3nr-rf \|rpurnrlnrl urupphp
(Ilhhurqhh3urtr afr$pur\urnrihurp (X-Ray
Diffractometer)

ztru hurtn 15000000 I i5000.0

38591200/9
pfnffrur\urh LuFnpurunpfrurlnul \hl,rtr,.ltot urupphp
(tnfnr-2trhpfr $hqilhlu rhnnd,urntrftub urunp) ztrU hurur

5016000 50r6.0

38s91200/10
pfil|u\uL LurFnpruunpfrur3nr-rf qirp*".l"tt urupphp
(hrfnt2hhpfr !1 fnfurlru\urtr rlrnp&urp! ilruh uurnp) 2trU hrurn

3720000 3720.0
39181100/2 truFnFurunpfrul|r uhqurLhhp (Sfrqlr\ur\urtr uhqruh) uu hurur 40000 t7 680.0

391322tO/l urhuur\urtlnprfurh 4urpur\ur2lup uu huln 120000 2 240.0
39132210/2 urhuru\ullnpriurh 4rupru\*2*F UU hrutn 60000 1

I 60.0
39s63800 o4ulJrnlurlurh ]unqnqru\ur2urphp, urhrlur4pnulnrl uu PAi 9600 45 432.0

39s63800/l
o4uulrnlurlruh hnrlurtrng fohfuhrUur, glrh\urqunn,
utrlur4pntrlnr]

uu hunn 54000 10 540.0

39713432 fu21\nt1 uu huur 70000 1 70.0
39714200 o4npu[f2 ce hurur 200000 J 600.0

39714200/1 o4nfrurl{h) qZ hrutn 550000 I 550.0
42121370/1 {ur\nr-nr-ilru1}rtr q nriq hp /2HBP -5 [.M'/ q2 hurur 750000 1 750.0
42121370/2 rlurlnurtilrujfrtr qnrlqhp g2 huur 170000 340.0
42121690 rluhnuirjurrhtr qnrjqhnh rluruhn /rhurLurly' q2 huln 60000 10 600.0
42631,160 orlurdtr2fr2 (hh+p*ffi h) rlurlfr2trhp q2 hurur s00000 2 1000.0
42711t90 lnpur grlurh uurppunlnpnulhhp sz hunn 400000 3 1200.0
4271t190 gnpurgrlurh uruppur{npmilhhp qz huur 550000 I 550.0
42711190 lnpurgdurh uurppur{npmrfhhp ({ru\nrilur3frtr) g2 hunn 600000 2 1200.0
42941tto {urnurpurhtrhp / ilnr-$h1ur1}rV qz hurur 780000 1 780.0
429rtr50 o4ullrnfurftutr uurppur{npmrftrhp BKK 250 qZ hruu 84000 9 756.0

, 429171501I orplrfrrrlurlurh uurpprurlnpnulhhp BKK 315 qe hurur 96000 J 288.0

44r18320 phphq gfrtr\urquln uu ,l/p 1910 150 286.5
44118300/1 fohfuh rlhururlur\ruh uu {/p 8750 40 3s0.0
4411t400 \*lo"rlit runururnurl uu ,J/p 2000 100 200.0

44t637&/r 2pb ]unqmlu\, 2 rI UU qb/ri 450 100 45.0

44t63740/2 2ph ]un4nrlur\, a rl UU qb/d 900 100 90.0
44r63200 ]unr1n{u\hhpfr rlfnlgrfurh rftuuhp uu hruur 1200 20 24.0
44t7t500 uhl4{f2-quhhltrhp q2 il/p 17000 28 476.0



442211,@ qururmhlrrhhhp (uruntdhhh) q2 ,I/p 40204 49 1970.0

44221100/r qururnr-hurtrlrhp zuu ,I/p 30000 2.7 81.0

44221140/r rlntrhp qZ huru 300000 2 600.0

4422rr40/2 4nhhp flu1 2UU ,l/p 39000 n l
Z L 819.0

44221140/3 4ntrhp rf/u1 2UU rt/p 40000 3.4 136.0

4422tr70/1
q"tthpb ulur2ulqurhht S*hg (2hnur\urnullurp{nrl

rJhtnunurhurtr rhnrnullurnurcnttnhtn)
q2 hurrn 160000 5 800.0

44322200 ilurp{u, h1h\urpur\urlr lurp uu tlhurp 250 300 75.0

44322300
tlurlntlu hurluunnhu{rub frtnnhphhrnulfL \uq}t
hunjurn

uu ilhurp 200 500 100.0

44322300/1 durlnr-|u urq4ruh2urhru3frh uu nnuril 620000 1 620.0

4441t300 llurgurpruLhhp uu hruur 16s60 10 165.6

4453r191 hp\urph ]unrlndur\trhp /40-80/ UU rihrnp 1590 60 95.4

44531191/l kp\urph ]unrlnrlu\trhp /30t50/ uu rihup 1021 105 r07,2

44531t91/2 hp\urph iunqnqur\Lhp /10- 1 0/ uu r.thtnp 200 600 120.0

4453119113 bp\urph ]unr1n{u\hh p / 15. 15/ uu ilhup 333 600 199.8

44s30000 rutipurghnrl 4hururltrhp uu huln 1200 40 48.0

4452L120 nnurh rhurhruhlrhn uu hurur 30000 8 240.0

44611200/1
purlnhhhp' urqnurlr Furfi&F dh2rlurh, hntpp

\rupqrurlnpriurh rlrur\urtrn.l, tJtgputrltp{urb purp&p
ilurpnntBturtfn urqnunil (61i3)

UU hruur 260000 J 780.0

44810000 hhntrhn uu trq 10000 R 80.0

rnhturhhhn uu huru 900 200 180.0

Uurnru3ntplnthhhp

45237215 urtnlrnurtrqntpl urtr utupphpfr urhrlurrlpntri
'urtnlururtrqnr-plurh uhtrSur\hhpfr ulu2rrrqurlrlr2 4nhhp
uhurq urhqrlurtr hruriur\rupqnQ

uu rlpuril 400000 2 800.0

45331 1 13
o4ullrnluriurtr hunfur\urp qfr urhrlu4prtu b

urrhurururhphhn
uu rlFurd 700000 1 700.0

45421tt6 l1*lo"rlh unuruururqlr urhrlu4pntd uu rlFrud 950000 I 950.0

7r24r200
trurluurqbhplr uluupururnnr-ri, burluuhpfr
qtruhururnril

UU rlFluli 990000 I 990.0

722r1t80 hru2rlurp\urlfrh bpurqpurlfrh r]rrlphptrhp]r rf2u\ttult
Erunuunlplnttrtrhn '

qz rlpuril 1000000 J 3000.0

79223000 riurpuurl|rtr tf ir2hnp4[r lppnphp) burnurlntpgnttrhhp uu ryrurLi 200000 I 200.0

4s400000/1 2hhphpfr h 2frlmtpSnttrtrhpfr ULfourglrh hnpnqrlurh

upluurunuhphhn
qz qpunl 21945980 1 21945.98

45400000/8 |rhuurfrurmurh 3-p+ hurp\hplr utuhhurhqntlgbhnlt

nhrourqhh hnnnqnul
qz 4puril 1639000 1 1639.0

4526rr1,0 ururtrfrpfr bruE\rftuh ur2]uurururhplrhp q2 4nlrlil 4937900 4937.9

7735t540 rnhfu trfr\ur\urh hu\nrlntpprh burnrulntpSnr-hhhp UU 4Fulil 902s00 902.5

981 1 1 140 hhqhLu\ulfrh hu\nrlntplurh burnurlntp3nttr uu ryrulil 300000 1 300.0

Ctr4udtltg 275243.0

Qtrnuitrhpp huniur\urpqnrl' U.U\ptnXurl:
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